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Time—2 hours

SECTION I: MULTIPLE CHOICE

Number of questions—40

Percent of total score—50%

I. Vocabulary—15%

Choose the word that best completes the sentence.

1. Stars run the ___ from Earth-sized white dwarfs to red giants with diameters up to 200 times that of our sun.

(A) gamut
(B) cadaver
(C) qualm
(D) panache

2. The banker referred to his mistress ___ as his “social secretary.”

(A) posthumously
(B) euphemistically
(C) furtively 
(D) ostentatiously

3. An authentic ___ is an essential ingredient in a good historical novel.

(A) cistern
(B) echelon 
(C) phalanx
(D) milieu

4. Voters have become thoroughly disgusted with candidates who ___ their rivals’ reputations.

(A) vilify
(B) purge
(C) spurn
(D) ransack

5. Falling home prices and the slowdown in housing sales are often the first ___ of a recession.

(A) entourages
(B) harbingers
(C) sommeliers
(D) lesions

6. Tour guides are trained to give complete and polite answers to questions, not ___ responses.

(A) oblique
(B) sultry
(C) jaunty
(D) curt

7. “Female unknown,” said the medical examiner, “severe ___ force trauma to head, ears, and chest.”

(A) stalwart
(B) churlish
(C) blunt
(D) rambunctious

8. With her standing in the public opinion polls ___, the President had a very tenuous hold on power.

(A) plummeting
(B) escalating
(C) fluctuating
(D) pivoting
9. Battered by a devastating tornado and then a fire, the ____ community faced dismal prospects.

(A) preposterous
(B) beleaguered 
(C) imperious
(D) defiled

10. Even with the scaly snakes swinging from the skull held in his hand, the famed magician remained ___ as if he was used to it.
(A) uncouth
(B) nonchalant
(C) iridescent
(D) insipid

11. I do not criticize people for trying to get ahead, but I ___ any attempt to take unfair advantage of others.

(A) upholster
(B) deplore
(C) oscillate
(D) bolster

12. “A good salad,” noted the celebrity chef, “should be more of a ___ event than an ironclad recipe. Feel free to add or omit ingredients as whim or necessity dictates.”

(A) spontaneous
(B) precarious
(C) spurious
(D) careening
13. I think that the vivid phrase “having a short fuse” aptly describes my wife’s ___ temperament.

(A) vernacular
(B) irascible
(C) mercenary
(D) pallid

14. Health-care advocates can work intensively during a medical crisis or ___ if a client's needs are more episodic.

(A) sporadically
(B) quintessentially
(C) peripherally
(D) listlessly
15. It is frustrating that a magazine would ___ a story from many years ago and present it to the people as if it were somehow current.
(A) proliferate
(B) fabricate
(C) regurgitate
(D) obliterate

II. Passage Completion—15%

Complete the following passage with words from the table. Write the letter that represents the word of your choice.

	A
	exudes
	B
	upheaval
	C
	awry
	D
	issue
	E
	partnerships

	F
	turbines
	G
	abdicate
	H
	voluminous
	I
	flow
	J
	duo

	K
	capacity
	L
	incognito
	M
	exploit
	N
	courted
	O
	ounce

	P
	bit
	Q
	short
	R
	pulverized
	S
	banded
	T
	voluptuous


Most of the water meandering down the lower reaches of the Nile, the world’s longest river, comes from the Ethiopian highlands, putting rulers in Addis Ababa, the capital, in a position of unusual power, one they have rarely dared to   16  . But since Egypt, the biggest and most influential consumer of Nile water, is distracted by revolutionary   17   at home, this may be changing. Ethiopia and the other upstream countries—Burundi, Congo, Kenya, Rwanda, Tanzania and Uganda—have   18   together to rewrite a 1959 treaty that favors Egypt. 

They may succeed. After decades of strong population growth, Ethiopia has overtaken Egypt as Africa’s second-most-numerous nation. The total population of the upstream countries is 240m against 130m for the downstream   19   of Egypt (85m) and Sudan (45m), whose 14m southerners will soon be independent and are being   20   by both sides.

Ethiopia’s prime minister, Meles Zenawi, is determined to dam his   21   of the Nile. On April 2nd he laid the foundation for the Grand Millennium Dam. With a planned hydropower   22   of 5.25 gigawatts and a flooded canyon twice as   23   as the country’s largest lake, it is the centerpiece of a plan to increase the country’s electricity supply fivefold by 2015.

Mr. Meles insists that Egypt will also benefit from the dam, saying it is being offered the chance to buy cheaper power. But he hardly   24   goodwill, accusing Egyptians of trying to undermine Ethiopia’s search for funds to build the thing. In any event, says Mr. Meles, Ethiopia will push ahead, using “every   25   of our strength, every penny we can save, to complete our program.”

How will Ethiopia pay? Chinese banks are apparently underwriting the cost of   26   and other electrical equipment. That still leaves one of the poorest countries in the world a good $3 billion   27  . Some engineers think the cost will exceed $4.8 billion. Ethiopians are being urged to subscribe to a bond   28   on patriotic grounds. But it is unlikely to generate more than a fraction of the required amount. Neither the World Bank nor private investors are willing to put up the cash, since Ethiopia has failed to create   29   with power companies in neighboring countries to which it could sell electricity. The Nile’s geology may be favorable for dam building, but the   30   of money is not.

III. READING COMPREHENSION—20%

Read each passage and then answer the questions.

Questions 31-34
The archipelago consists of ten principal islands, of which five exceed the others in size. They are situated under the equator and between five and six hundred miles westward of the coast of America. They are all formed of volcanic rocks; a few fragments of granite curiously glazed and altered by the heat, can hardly be considered as an exception. Some of the craters, surmounting the larger islands, are of immense size, and they rise to a height of between three and four thousand feet. Their flanks are studded by innumerable smaller orifices. I scarcely hesitate to affirm, that there must be in the whole archipelago at least two thousand craters. These consist either of lava or scoriae, or of finely-stratified, sandstone-like tuff. Most of the latter are beautifully symmetrical; they owe their origin to eruptions of volcanic mud without any lava: it is a remarkable circumstance that every one of the twenty-eight tuff-craters which were examined had their southern sides either much lower than the other sides, or quite broken down and removed. As all these craters apparently have been formed when standing in the sea, and as the waves from the trade wind and the swell from the open Pacific here unite their forces on the southern coasts of all the islands, this singular uniformity in the broken state of the craters, composed of the soft and yielding tuff, is easily explained.

31. This passage is most notable for its

(A) meticulous classification

(B) unusual point of view

(C) precise description

(D) resourceful analogies

32. Most likely, the passage is extracted from

(A) an entry in a scientific journal

(B) a nineteenth-century novel

(C) a travel brochure

(D) a book on volcanoes

33. In context, one can infer that tuff is 

(A) a kind of sand

(B) made up principally of grass

(C) volcanic rock

(D) dense and resistant

34. In this passage, the speaker is most notably impressed by

(A) the flora on the islands

(B) the force of the Pacific Ocean

(C) the fauna of the archipelago

(D) the symmetrical craters on the islands

Questions 35-40 
But it is important to keep in mind that the engineering of learning is very often puffed up, assigned an importance it does not deserve. As an old saying goes, “There are one and twenty ways to sing tribal lays, and all of them are correct.” So it is with learning. There is no one who can say that this or that is the best way to know things, to feel things, to see things, to remember things, to apply things , to connect things and that no other will do as well. In fact, to make such a claim is to trivialize learning, to reduce it to a mechanical skill.

Of course, there are many learnings that are little else but a mechanical skill, and in such cases, there well may be a best way. But to become a different person because of something you have learned—to appropriate an insight, a concept, a vision, so that your world is altered—that is a different matter. For that to happen, you need a reason. And this is the metaphysical problem I speak of.


A reason, as I use the word here, is different from a motivation. Within the context of schooling, motivation refers to a temporary psychic event in which curiosity is aroused and attention is focused. I do not mean to disparage it. But it must not be confused with a reason for being in a classroom, for listening to a teacher, for taking an examination, for doing homework, for putting up with school even if you are not motivated.

This kind of reason is somewhat abstract, not at all easy to describe. And yet for all that, without it schooling does not work. For school to make sense, the young, their parents, and their teachers must have a god to serve or, even better, several gods. If they have none, school is pointless. Nietzsche’s famous aphorism is relevant here: “He who has a why to live can bear with almost any how.” This applies as much to learning as to living.

To put it simply, there is no surer way to bring an end to schooling than for it to have no end.

35. The “engineering of learning” in line 1 most nearly means

(A) development of schools

(B) building of schools

(C) educational methodology

(D) building up of knowledge

36. The series of infinitives in the initial paragraph emphasizes that the learning process is

(A) long and tedious

(B) multifaceted and impersonal

(C) active and varied

(D) mechanical and complicated

37. According to the author, motivation is 

(A) not important

(B) synonymous with reason

(C) enduring

(D) momentary

38. “God” in the fourth paragraph most nearly means

(A) religion

(B) deity

(C) reason

(D) Nietzsche

39. The author employs the argument from authority as 

(A) a contrast to his point of view

(B) an apt analogy

(C) an example of cause and effect

(D) an illustration of the cruelty in schools

40. The paradox in the final sentence rests on 

(A) different meanings of “end”

(B) the comparison between schooling and learning

(C) the eternal process of learning

(D) a new way of bringing schooling to an end
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